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, fr/llT JfTff�ff fitff(JWr-rpr1':fta�s FfP.!Tmrf 19f1 
Please make sure that the printed pages in this question paper are 8 in number and 
it contains 19 questions. 

, m?-rr:l 1' W!"d iE'lr f# 1W" • Nr" w � m-Jftfrw '1i �yro qr fffll1 
The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book. 

• f11l!Tm?WJffr�!Fffl'"ll"� JWrWtfi:lfe5�f&ilt
Before beginning to answer a questioni its Serial Number must be written.

• Jrr(-� i efrrr ? w rr,w I � ;r d;!1
Don !t leave blank page/ pages in your answer-book .

• Jfff-� cf� wt JR/ �lie rf#l fiMtft, J{ff: �?lcbdtjffl( ft fferi Jftr' r&,.w- iJfR' rf

Ex�pt answer-book, no extra sheet will be given. Write to the point and do npt
strike the written answer. ,.. 

• r,(Rrr,f/ �#err;;() m-;r-rpr qr�" fferll, iJw: ;/o � lifR}R'lff �QW 'ff,.J{W{,._rp eft..,.
fffl, oJ/tr �t&v4' miff r; iJffif rrr fit;dt JFlj{( w fr!WPr ? �, 

· · · 

Candidates must write their Roll No. on the ques.tion paper. Except R\llt: No. do not 
wri'te anything on question paper and don't make any ,n.ark on ans.we'!� <!Jf objective 
type questions. 

• ,rl1n' JWif � iJffr # ff' rp � � rR' ff filr �'if-rpr f'/ ·" � �··wmr ii '3v?l�t fr(
Affr if rNt flt ff fiflwc rfl M iJfftt!ri , .

Before answering· the questions, f!nsure t�:t you- have been• supplied the correct and
com?lete question paper! no claim in • "'9ard, will be entenalnecf after

- examfn•afion. 
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( 2 ) 

ms,1;q Mr
(i} ff'lft w,r iJ/f#J4 ,, 
(ii/ ffl �� i frm/ftrr JP5 � fff1R � 11(! f1 . a 

{iii) m � 1 � � (i-xvi} ,ugRIB �eft- q efcr Tfllf b-, mit15 JR';f l :; : �, "fl�

(i) # (viii) arr; l!l_§fijr:/R1Jq �ff �I ffl �rf '5 � � � f!R" �&1/. lf1i ?1tf

� � t, � �rf (ix) "(xvi} rfcfi fflt <IT 1fffff JfcfiTf ?6 �;:r t?l
li1·J �";{ ff7§!lT 2 rl 8 � Jmt &�ft(/r'lqj �7 8 � JTriic5 mrf 2 .Jfci/ qi{ �/
r;·1 �� �9 # 16 flch e1�r1afflrh �7 � � � m 4 � c/il �,
: ; ·; 1 w-.=r msilT 11 # 19 ff¥J o!/J@.(1<'12h �rf ! f&r;rq m m;r 6 ,Jfc!ff cfif #,
{l ii) 'flSft oQ/(_�Jr'M, �eft- � .Jll'f'Jftch F i.JW/i#/ ti

General Instructions; 

{ii All questions are compulsory. 

(ii} Marks for questions are indicated against each. 
{iiij Question No. 1 is divided into sixteen (i-xvi} objective type questions. Each

question carries 1 mark. From question (i) to (viii) a re multiple choice type
questions. One correct option has to be chosen out off our optiosn in each
Question. While questions (ix} to {xvi) are of true and false type questions.

(h·J Question Nos. 2 to 8 are very short answer type questions carrying 2 marks
each. 

(v) Question Nos. 9 to 16 are short answer type questions carrying 4 marks
each

(vi} Question Nos. 17 to 19 are long answer type questions carrying 6 marks
each

(uiij Internal choice is available in all long answer type questions.

(q�� �) 
(Objective Type Questions) 

1. � "'6t-v Jf./r( :
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Choose the correct alternatives :

(il � -� ���tqcll � � � TT � � � �-m � ?
(Al cbR..ftll 

(BJ �q;t q;q B&ll 

{C) � s6I{ 
(D) iJij{ilq �

1 
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( 3 )
Which of the following is a merit of 8 good questionnaire ?

(A) Difficulty

(8) Less number of questions
(C) Not in proper order
(DI Invalid question

(ii) � � ct � ' :
(A) � � � � �
(8) \jCJ-�"11�d -3WJo �

(C) ��
(D) � � � �
The types of bar diagrams are 

(A) Simple and multiple bar diagram .
(B) Subdivided rectangle diagram
(C) Pie diagram
{D) None of these

(iii) �, tl'11�( tmlf' .q � � �-m -�.ff 00 i ?

(iv) 

(A) z = 3M + 2 X (8) z = 3M - 2 X

(C) X = 3M - 2 (D) � (B) � (C)
2 

What is the relation between mode, mean and median ?
(A) z = 3M + 2 X (B) z = 3M - 2 X

(C) X = 3� - 2 (D) Both (B) and (C)

lffi« T1fcii � � l

(A) CR =X-L (8) CR=
H-L 

H+L 

(C) CR=
H+L 

(D) ���;itl
2 

Coefficient of range is 

(A) CR =X-L (8) CR=
H-L 

H+L 

(C) CR=
H+L 

(D) None of the above
2 
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(v) � � ml if qftqcl� � tl �TT � 3ffi" mcIT � ffi «�l-l�� i : 1

(A) :fi0llt'i4i (8) �11f'-icfi
(C) (A)� (B) � (D) '3q�cffi tf4t
When two variables change in the same direction, then such a correlation
is called
(A) Negative (8) Positive
(C) Both (A) & (B) (D) All of the above

(vi) {4c1�c11 � � w:r-T � � cnT Wl"rl � ���Id ifflT � � m"«l mffi � ?
(A) 50%
(C) 60%

(B) 55%
(D) 65%

On the eve of independence, what percentage of national income · was
obtained from agriculture?
(A) 50% (B) 55%
(C) 60%

�'""' 
(D) 65%

(vii) fc6tl � if 'ilTm if � tjtjq�4 � � � � ?
(A) 1951 · (B) 1947
(C) 1940 (D) . 193§.
In which year was Indian first Five Year Plan launched ?
(A) 1951 (8) 1947
(C) 1940

�........ 
(D) 1935

(viii) � if � � «11il�cb \ill�H\cl �(i.111 ct Wl' if � 'fflm i ?
(A) 41ctl41c1 (B) �
(C) ffi (D) �
Which of the following is considered as social infrastructure ?
(A) Transport (Bl Education
(C) Communication (D) Energy

� Al.tMd � fffll , 1/T arf1fll :

State whether the following statements are trae or false

(ix) ���fcrcl;mqjf ��,,

2312 

Foreign trade is an engine of economic growth.
(x) 'qfffl if �� .. lc11 c6f cfiTTl'T i3Wt q;r � �ct(01 i,

Unequal distribution of Income is a reason of poverty in India.
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(xi) �, -wl, � � � � cfj f/17" mq-;f i,
L111d. L:1hnur, C:1pital anct () , . . fiour factors of production.

. rgan1zat10n are
(xii) � lil1�l! � qiT � i:tftouq i,

1 

1 

Education is a conscqucn f h •t I formation.cc o uman cap1 a 
(xiii) � � it � � ctt � � � cTif � � � � l1

In an exclusive series lhe u 1· ·t of one class interval is the lower. . ' pper 1m1 hmtt of next class interval.
{xiv) 8(;8�� � � �tlfqj mJT �,

Coefficient of correlation is always positive.
(xv) qileJ>icb ct &RT � N{ if � q@ 11Rcid1 cb1 lJJqf � �I

Change in price level is measured by index number.
(xvi) � �<lJl•II� m1t � if � i1J@t �I

Seasonal unemployment is found in urban areas.

( i31fa-('ft'iHl<'icfi ffl') 
(Very Short Answer Type Questions) 

What is economic activity ? 

1 

1 

2 

3. Slle/�<f, � �allleJ> � if � '3RR �I 2 

Write down any two differences between primary and secondary data.

4. «$<-1'�"1 fflcf m ctr � � �-tfi i ? 2 

What are methods to calculate correlation?

5. i3Q"i14dl � «€14'icfi � � ? 2 

What is consumer price index number ?

6. � � U � ��Sllt.l � ? 2 

What is meant by Secondary Sector ?

2312 P. T.O. 



( 6 ) 

��cti� ef fm��I
7. 

r -,turrs ol l11d1;111 Al'ric-ul1 t t , Writ<' (icl\\"11 an�· two ,r. , re. 

r.--6 �-�-u i?
m@ � � Jwmt q I•1<.lln 

8. " 

\\"h:1t ,ff<' thr m,,in imports and exports of India ?

(�-6 (i(qq; �) 

(Short Answer Type Questions)

9. ,:-� � � � � cfi 25 � t6t � 9if � � filcf {Of � :

: 5 } l) 

!6 16

10 

- ----· ' 
1, l 1s l.. - - -·-t 

l5 16, 15 I 

18 

17 
17 15 15 16 16 
17 18 19 16 15 

' 

2 

4 

17 I 15 I 
I 

16 I 

J 
The iollowing data is the age of 25 students of Class XI of our school. Arrange 
the data in the form of a frequency distribution : https://www.haryanaboard.com

. 

15 16 16 17_ 18 18 17 1� 15 16 16 17 15 i
_. , -- - . - - - -

- i 16 16 15 i lfl.. 15 17 17 18 I 19 16 15 16 
I . - . .,, - ,. - - � ,--

. ,o. Sl�<t-$1 cfi � �<1altb<01 � � �fi{sn� �? � � � �-�-� �? 4, 
, ,. \ 

�That is meant by diagrammatic presentation of data ? What are its main 
methods? 

4 

. 
j>41'<11� 10 20 30 40 50 60 70 

�01Mqt $�! 15 18 25 30 16 10 9 

Calculate range and coefficient of range from the given data: 

50 60 70 ___ _!!••°-� 20 30 40 

: No. of Stude��• 1 � 18 25 30 16 10 9 
·--•--... 

12, �M(flq w,t � � '311fij� � if � mi1ey;, i ? 
4 
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13. � if ◄�'11�11 � � i117� � cfiT cfof;, c6tl
Explain four main causes of unemployment in India.

14. 3llttl("{cf �(tHI cfil cfllT "{ffl � ?

What is the importance of Infrastructure ?

15. ?!l(u\)4 F<fc6ffi ctr '3icltll{011 � qft\fl�ij � cf'iT � � ffll

2312 

4 

4 

4 

Define the concept of sustainable development, write down its conditions.

16. 1TT«i q -� c6 � fffiu-ctR � �I

Make educational-wise comparison between India and China. 

(oq,&qj(qcf, ffl) 

(Long Answer Type Questions) 

t 7. f.!19�Ri!a � qi[ «111-t1< � m � : 

2312 

� I o� 2 I 2: I 4�6 I 6�8 I 8; � o I 
Find out the arithmetic mean of the following distribution 

Items 0-2 2-4 4-6 6-8

Frequency 2 4 6 8

� 

OR 

P,.:.,�Rsr« � �«(01 c6t .cf>! st@�: 

.,\JJ'i ;, ca � 0-10 10-20 20-30

�. - 22 38 46 

8-10

10

30-40 40-50

35 20

Find out median value of the following frequency distribution 

Wage Rate f 0-10 10-20 20-30 30-40 40-50

No. of Workers 22 38 46: 35 20

4 

6 

P.T.O 
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18. 'l{Tffl if ql!tq�q �l)lf $ �::rr.i � � � �I

Explain long term objectives of Five Year Plans in India.
� 

OR 

'Tmr � � f4�;;M � '3ffl4K'idl'31f � quf;{ cf>tl 

Describe the failures of economic planning in India.
19. �qi(Of cf '3�i�c6(Uf � � � � �

2112 

Explain in brief Globalization and- Liberalization.

� 

OR 

LPG ��ql ct tlcfil (lt'tc6 M ctl � �I .

Explain the positive impacts of the LPG policies.

2312 
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